Problem Set 8.4A

Name ___________________________________________     Date __________     Hour __________

1.
Graph each function on your calculator.  Then describe how each graph relates to the graph of 
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 or 
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.  Use the words translation, reflection, vertical stretch, and vertical shrink.

a.) 
[image: image3.wmf]2

2

x

y

=



b.) 
[image: image4.wmf]1

2

25

.

0

+

-

=

x

y

  

c.) 
[image: image5.wmf]1

)

4

(

2

-

+

-

=

x

y



d.) 
[image: image6.wmf]4

3

2

+

-

-

=

x

y


2.
a.) The graph of the function y = x2 is vertically stretched by a factor of 3 and then translated right 2 units and up 5 units.  Give the equation of the image.

b.) The graph of the function 
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 is translated left 8 units and down 2 units.  Give the equation of the image.

c.) An absolute-value function has a vertex at (2,-6) and a vertical shrink of 0.75.  Give the equation.
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d.) Describe 
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 as a transformation of its parent function.
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